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For questions 1 - 3, identity a convergence test (which will not fail) to use to determine whether
the series will converge or diverge. Then use the test to determine the convergence of the series.

1. (3 points) (4)" MH) ‘ D_t‘i \

o
Z dy=cn " | - nw\ » \‘\/7.\ = Yo #+0

= \ L'\\r—sm T

Alrermahing
Senel

Diverqe?

&:(3*_5‘% (3t \
2 (30 points) L = Lim = W w\ (MD (-2)
(=3)" o0 ==
2
n=1 L _ L\nw\ \:'%.Y_‘._-——' \ = ._?)
\Wna\:vwg — el ] WSS
, ’r
Diverg?
3. (3 points) y
o = n+t J - fl,\ﬁ
4 = ~In
>t L W = L b
ey | n =200 ; 1 . l
S \ - \~/z| =
et T - Ui,

prer

4. (1 point) Power series are not polynomials. However, polynomials can be considered a
special type of power series. Explain why this second statement is true. (Note: if you
give an example, be sure to explain what’s going on.)
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